
TE Connectivity

476.64
(ACTIVE AREA)

268.11
(ACTIVE AREA)

511.7

298.1

42.6

TITLE: 2243L / 2244L

REV: C
DATE: 01/08/2012

MS601132
DIMENSIONS ARE IN MILLIMETERS

OSD CONTROL WITH MAGNETIC ATTACHMENT;
CABLE LENGTH = 280mm

NOTE:
ALL DIMS. +/- 1mm UNLESS NOTED

DC POWER INPUT:
BARREL ID = 6.4mm

PIN OD = 2.0mm
BARREL DEPTH = 8.8mm

INPUT VOLTAGE = 12V DC 5%

USB TOUCH SCREEN
OUTPUT

DVI-D VIDEO INPUT

VGA VIDEO INPUT

POWER STATUS LED



TE Connectivity

100

100

23202

202

23

REV: C
DATE: 01/08/2012

MS601132

TITLE: 2243L / 2244L

DIMENSIONS ARE IN MILLIMETERS

M4 THREAD,
MAX. SCREW DEPTH 7mm FROM
MOUNTING SURFACE. X4

VESA MOUNT SIDE MOUNT, VERTICAL (LEFT & RIGHT)

M4 THREAD, MAX. SCREW DEPTH 8mm,
X8

SIDE MOUNT, HORIZONTAL (TOP & BOTTOM)



TE Connectivity

535.7

322.11

MOUNTING BRACKET ADJUSTMENT RANGE
-1 TO + 18.5 (X4 PLACES)

R
X4

1.8

479.2

270.7

311.11

202
M4 THREAD,

X2

202
M4 THREAD,

X2

226
 5 THRU HOLES,

X2

226
 5 THRU HOLES,

X2

524.7

REV: C
DATE: 01/08/2012

MS601132

TITLE: 2243L / 2244L

DIMENSIONS ARE IN MILLIMETERS

RECOMMENDED CUSTOMER
PANEL CUT-OUT

MOUNTING WITH ADJUSTABLE BRACKETS
(4 PROVIDED)



TE Connectivity

539.6

326.1

477.3

268.8

3
47

R , X48

311.7

525.2

537.6

324.1

170

170

TITLE: 2243L / 2244L

REV: C
DATE: 01/08/2012

MS601132
DIMENSIONS ARE IN MILLIMETERS

OPTIONAL FRONT MOUNT BEZEL KIT P/N E668194
ORDERED SEPARATELY, CUSTOMER ASSEMBLED)

RECOMMENDED CUSTOMER
PANEL CUT-OUT

FRONT MOUNT BEZEL

FRONT MOUNT BRACKETS X4
(INCLUDED WITH FRONT MOUNT KIT)
 
1. BRACKETS ACCOMODATE MAX PANEL THICKNESS OF 14MM

CUSTOMER PANEL

FRONT MOUNT ASSEMBLY

224X SERIES MONITOR

R5, X4

 MOUNTING HOLES, X8
 
1. IF CUSTOMER PANEL IS WOOD, 

4.5MM THRU HOLES FOR M4  SCREWS
 OR NO THRU HOLES, SCREWS FOR WOOD 4MM
 
2. If CUSTOMER PANEL IS SHEET METAL, 
CONCEALED HEAD THREADED STUDS M4 WITH NUTS



TE Connectivity

533.4
(21.0")

482.6
(19")

37.3
(1.47")

465.1
(18.3")

TITLE: 2243/2244L

REV: C
DATE: 01/08/2012

MS601132
DIMENSIONS ARE IN MILLIMETERS

OPTIONAL RACK MOUNT KIT P/N E462672
ORDERED SEPARATELY, CUSTOMER ASSEMBLED)

NOTE: 
1. MONITOR IS ORIENTED IN PORTRAIT MODE
2. REQUIRES 12U OF RACK SPACE
3. MOUNTING HOLES SPACING PER EIA-310-D

1. INSTALL BOTTOM BRACKET FIRST USING 2xM4 SCREWS (INCLUDED)
2. INSTALL SIDE BRACKETS USING M4 AND M6 SCREWS (INCLUDED)

M6 SCREW

M4 SCREW


	Sheet 1
	Views
	new_view_16
	right_17
	right_18
	bottom_20
	new_view_28
	new_view_37


	Sheet 2
	Views
	new_view_22
	right_23
	bottom_27


	Sheet 3
	Views
	new_view_32
	bottom_34
	new_view_35


	Sheet 4
	Views
	new_view_41
	new_view_42
	new_view_54
	right_55


	Sheet 5
	Views
	new_view_45
	new_view_51



